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Division has its own special words to remember.
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".'aet’s take @he simple problem of dividing 22 by 5. The
o o@%vver (s 4, with 2 left over. Here we illustrate the
¥ mportant words:
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Objective:
To use the division algorithm to divide without a remainder
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Objective:
To use the division algorithm to divide without a remainder

first digit of the quotient.

[Tudiuidﬂ.ﬁrslmdﬂmplamufha }

4)312
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Objective:
To use the division algorithm to divide without a remainder

}

[ Are there enough hundreds? J
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Objective:
To use the division algorithm to divide without a remainder

[ Are there enough hundreds? ]

4)312

[ 4 =3 There are not enough hundreds. ]
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Objective:
To use the division algorithm to divide without a remainder
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Objective:
To use the division algorithm to divide without a remainder

[ Are there enough tens? ]

4)312

[ 4 =31 There are enough tens. ]
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Objective:
To use the division algorithm to divide without a remainder

4)312 | Iisamn
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Objective:
To use the division algorithm to divide without a remainder

X
1

4)312 | miezu |
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Objective:
To use the division algorithm to divide without a remainder

[ Now, find the first digit of the quotient. ]

4)312




Objective:
To use the division algorithm to divide without a remainder

[ Use basic multiplication facls 1o determine the first digit. J

4)312
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Objective:
To use the division algorithm to divide without a remainder

[ Use basic multiplication facts to determine the first digit. J

4)312




0 bjective:
To use the division algorithm to divide without a remainder

Which basic fact with 4 as a
factor has a product close to 31,
but not greater than 317

4)312




Objective:
To use the division algorithm to divide without a remainder

Which basic fact with 4 as a
factor has a product close to 31,
but not greater than 317

4)312

| 4x7-28-28iscloseto31 |

| 4x8=32-32is greater than 31
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Objective:
To use the division algorithm to divide without a remainder

The first digit in the quotient is 7.
Write 7 in the tens place.

7

4 x7 =28

4)ﬁ [ Multiply: }
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Objective:
To use the division algorithm to divide without a remainder

I

7

31-28=3

4)312 s
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Objective:
To use the division algorithm to divide without a remainder




Objective:
To use the division algorithm to divide without a remainder

Use basic multiplication facts to determine
the next digit in the quotient.

7
4)312
— 28

32

Which basic fact with 4 as a
factor has a product close to 32,
but not greater than 327
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Objective:
To use the division algorithm to divide without a remainder

4x8=32~32equals 32

7

4)312
— 28

32

Which basic fact with 4 as a
factor has a product close to 32,
but not greater than 327
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Objective:
To use the division algorithm to divide without a remainder

So, the next digit in the quotient
is 8. Write 8 in the ones place.

78

4)312
— 28

32
32




Objective:
To use the division algorithm to divide without a remainder
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Objective:
To use the division algorithm to divide without a remainder

/78

4)312
_ 28 [The remainder is 0.

So, 312 + 4 = TB.

32
— 32




Dividing a 4-digit by 2-digit
| ) numbers
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lace the divisor before the division
acke¥ and place the dividend (4138) -
Ounder' It 8

17)4138
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o Examine the first digitf the dfidend(). It
is smaller than 17 so can't be divided by 17 to
.« produce a whole number. Next take the first
.f'-’w’o digits of the dividend (41) and determine fils-
. «@ow many 17's it contains. In this case 41
®holds two seventeens (2*17=34) but not three @
(3*17=b1). Place the 2 above the division
«+ bracket.

2
17)4138
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MUH’IP'Y the 2 by 17 and place the resul’r
!’(34) below the 41 of the dividend. |
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®. Draw a line under The 34 and sub’rr'ac’r it
.. from 41 (41-34=7). Bring down the 3
!‘ﬁrom the 4138 and place it to the mghT
: ‘Qf the 7.
_2
17)4138
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D|V|de 73 by 17 and place that answer

above the division bracket and to the

"f '?‘j,gh’r of the two.

_24
o 174138
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.:: Multiply the 4 of the qu’o’r‘ie‘n‘r 'ba’t e divisoP
(17) to get 68 and place this below the 73
.+ under the dividend. Subtract 68 from 73 to
."-e:;i\'/e an ?swer‘ of 5. Bring down the 8 from -

- «@khe dividend 4138 and place it next to the b

) 24

17)4138
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® . Divide 58 by 17 and place THat answer
(3) above the division bracket and to

.‘r,ﬁhe r'lgb’r of the four.

1 243

17)4138
-34
7

68
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* Multiply the 3 of the quotient by The;ﬁiv o-r‘(f'7) 8
get 51 and place this below the 58 under the 8ividend.
Subtract 51 from 58 to give an answer of 7.

243
17)4138
34
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':3 There are no more digit$ in & dividend
~ to bring down so the 7 is a remainder.

The final answer could be written in
”"?sevemlcways.
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243 remainder 7 or sometimes 243 r A
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¥ Taken from: *® X ?

*+ + http://www.sadlier-oxford.com/math/reteach/gr4/ATMO405b.htm
"-?’r’rp://wwwma’rhsisfun.com/lonq division2.html
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http://www.sadlier-oxford.com/math/reteach/gr4/ATM0405b.htm
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